Potencias de 10 (D)

8,843 0,1

9,895+ 0,001

5,777+0,1

4,134 0,01

2,536+ 100

7,634 0,01

7,036 0,1

1,584 <1000

3,311

4,276 =10

Calcule los siguientes cocientes.

8,495 +1

6,011=0, 1

5,102 = 100

5,524 0,1

1,534 +0,01

1,918 =0, 1

2,393 0,001

5,504+ 0,1

7,957 +0,01

6,526 +1
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Potencias de 10 (D) Respuestas

8,843 +0,1
88,43
9,895+ 0,001
9.895
5,777+0,1
57,77
4,134 0,01
413,4
2,536+ 100
0,02536
7,634 0,01
763,4
7,036=0, 1
70,36
1,584 = 1000
0,001584
3,31+ 1
3,31
4,276+ 10
0,4276

Calcule los siguientes cocientes.

8,495 =1
8,495
6,011 =0, 1
60,11
5,102 <100
0,05102
5,524 =0, 1
55,24
1,534 -+-0,01
153,4
1,918 = 0,1
19,18
2,393 0,001
2.393
5,504 =0, 1
55,04
7,957 0,01
795,7
6,526 1
6,526
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